A X FEHKERAE (Hll PR AT — AR = A FL)
AfLERHE S4E6H2H

53 %  INEFARUTAEERE

% E i 4% 6,314,000 F |# B i & L
AFLELLEE ARELE ~
P % 1 5,740,000 H [5i's m i gL
[ FRLMEE. ALEAREL-2HELZLEDH 1
BRI RV EERESTRVRETHD, XA MG
" A ]
A #H o= | A O = x
BReH FHEEK 5,760,000
AR BRIEMR 5,600,000 EALEHE

A BREBRITSEICTEDISNE VW TERTIREITEDIOE1ED
REICKYZIEEZRELIZIGRICHETH A% EELLIZIER

ERDEBYRRLET



4

i

T 5]

RS

ZRIOFF I

A PR S
(1) #AL R

P
=6

¢ 4B #H (BliA)

AR il T ey

/NI J AR A R R
Ra T ETFnET PN
L

R ERERENVEL B 1B
B/ NRR 15
I8 1wk

HrR MR T RARRT 4% 1275
Rt B TR

4 Fn44£9 A 30 B

6,160,000



